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Puzzle 1 (Medium, difficulty rating 0.50)

| 2

]

<|o[—=|—|o[w]o|m|o] _[~[w|m]<|o|ofjoln|—] o |—|~|o|w|—|m|<t|o]  S]c|<t|m]~—|w|o|o|—|w©
3 3 S

o|w|ols|o|~|—|~|o] Sl |©o]w|—|—]o|m|o]  Slo|<t|m]=||o]—|w|o] Y |w|—|wv|wo|<]|o|c]|m
1 :

o|—|o|m|o|a]st|w|—]  Sleo|—|o]|o|m|a|w|~[<]  -Slo|o|—|o|<|m|o|c|=]  Slo|o|o|m|a| <0
o o 2

—[o|w|~|ajofm|ols]  Sofo|~|m|<|—|N|o[w]  H|o|jwl—|~|solmlo]  Flo|a|~|—|w©|o|w]|m| <
=] = £

|m|oo|oo|wof <t |||~ %428756913 %197382465 B|—|co| o] <t |m| o]~
© o €

~[st|o|o|m|—|n|ofw]  _Jofo|—|afo|of—|so] s |m|o]w|o|ofa=—]  Sl<t|m|w]o|o|~[o|wof—
I ol -
© © O

w|o|st|a|—|o|o|~[(m] I|m|o|<|o|~|w]—|o|a] I]w|w|olx|—|ol=|o|a]  Slo|—|<]o|—|~]m|o|©
N ™ <+

o|~|ajo|s|m]o|—|o]  of—|o|N|o|o[s|m|w|~] o] —|o]n|m|w|ol|o[s] w]o|o|a]|w|—|m]—|<|o
N N N

m|o| |||l zle=|el—|N @l ool Zle|~Tlelel=le[—=l Fle|o|e| x| el |w

-




